_8 P 1. L
31, o5 il
b Skl i N
P iR IRl 0 ~
E |y 3 H
m - ] -
3 |a x
w = .
m " : [
-
gL s

L —

— LN LS
" - =T

N~ ——— !
LA I LU DR

— e

#h
&or

T L et AR
# g
e
p

=1

¥R EEE e Rl

(2]
-
posse
e B
e w———
i
LI 1]
Py
s

TR
BRRSE | 4 S (HALE U 1TE)

1
: 4.0km (D)

R R




E12-1 ¥<h

1

BERRRRAERR(EMOFE~FRNEE)

e F ™ F"\I'-lf“ J.=-"I'H I e ]

—— EAR(EE) 5.0km |
(&) —u— BEFEH(ER) 4.5km
—a— BEABER) 3.2km

ST P

R R R R
ﬁ&ﬁﬁﬁﬁ&ﬁéﬁﬁﬁﬁﬁﬁ@&ﬁﬁﬁﬁﬁ
X OBHEE AR -vdU M v-BUHRIESREE A (0.26m2512Y)

Wl FRIEFE~FRI1EE T3 T EHRIVER

[
N



b

Hike (Eikn’)

L2

£,
hy

&
#*
[}

i

Hikg (@iEn)

B || W W

. [N ket |
" 2,000
%1, 500
21,000
& 500
#
0
N1 (5. Okmid3f5) | 5
= 1035 109085 1125 e
soo (=180l 035 IR cmyoc, hsopoetin ™ gog
o [IBLIL I 2 70 J I = ] - S
L]
000 "= 2,000
500 1,500
000 =1, 000
500 g 50
0 £ 0

| H6 | H7 | H8 | HO | W10 | W11 | HIZ | H1G | M2t |

T

22,00 060 2,000
£1.500 E 1270 fze0 1500
T1.000 E [MROOE =00
=g E -
H 0 # 0
g6 =

»  aY B

TR S OREE A DRI}

] o P S el [T P T ke | e [ F
_ N3 (9, Skeid i) = N7 (28, Okm{taT)
22,000 e e 2,000
#1500 #1,500
#1000 - £1.000
# 500 2052580 = 10 15 90 o0 & 500 15 L
g o m S A R iR S E 0 5

Hf|HIHSE S 2 2 2 2
| H6 | H7 | HB | H9 [ HIO | HI1 | H12 | HI6 | H21 |

P !

wlz
Hi10

i i i i

w|x
HS

!iﬁ-
HE1

!|§-
HiG

!|‘§.-
HiZ

!|‘§.-
Hi1




